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JEAT BINE 4 OUT | IN |GROSS| HDCP | NET % JEfT e JIEZ 2 OUT | IN |GROSS| HDCP | NET i % JIEAT SN 4 OUT | IN |GROSS| HDCP | NET kS
LA [ AR Ffods 45 42 87| 16.8 0.2 | HAY 52 \if | R HEX 50 54 104 28.8 75.2 103 i | #hHH —HA 49 48 97| 16.8 80. 2
2 L | BEJR B 47 58 105| 34.8 0.2 HAY 53 AL | Al &l 54 43 97| 21.6 75. 4 104 7 | R e 52 49 101 20.4 80. 6
R TANES 40 38 78 7.2 70.8 | HADY 54 N | 1A 46 | 44 90| 14.4 75.6 105 i | [LUA 4% 50 55 105 24.0 8L.O| BEEHDY
4 N | e Rk 46 | 44 90| 19.2 70.8 | HADY 55 {if | Al HLZ 53 | 43 96| 20.4 75.6 | AV 106 fir | {ZF gk 58 58 116 | 34.8 81.2
5 L | /NS Hw] 48 | 41 89| 18.0 L0 | EAY 56 i |$fH R 51 | 45 96| 20.4 75. 6 107 {7 | 14/ T8 53 | 57 10| 28.8 81.2
6 fir |fEE B 41 42 83| 12.0 7.0 | EAY 57 fir it BZ 52 44 96| 20.4 75.6 108 fi7 [ FA= FilF 57 52 109 | 27.6 81.4
(EVAESIRCIN 5 42 40 82| 10.8 .2 | EAY 58 fir | =4 fés 46 50 96| 20.4 75.6 109 fi7 | Fa 5 fr 55 | 48 103 21.6 81. 4
8 fr | HH &k 53 | 40 93| 21.6 .4 HEY 59 ir | Eli Z&5L 48 | 53 01| 25.2 75. 8 110 {7 | HE &3 64 | 59 123  40.8 82.2| BEHD
9 17 | B HEA 48 | 49 97| 25.2 1.8 | EAY 60 i | iE HIR 45 | 49 94| 18.0| 76.0|EADY 111 i | AA 1 53 | 63 116 33.6| 82.4
10 A7 [N IE% 45 44 89| 16.8 2.2 EAY 61 i | 2 '’ 52 54 106 | 30.0 76.0 | EAY 112 fi7 | =5 Hegk 60 53 113| 26.4 86. 6
1147 | B 40 | 37 77 4.8 72.2 62 fif | BA ZHE 44 | 44 88| 12.0 76.0 113 {7 | Fnéd FIHH 58 | 59 117 30.0 87.0| BEH D
12 fr | JR A% 51 44 95| 22.8 72.2 63 A7 | AT B2 47 47 94| 18.0 76.0 114 47 | gl SFRE 72 71 143| 54.0 89.0
13 A7 | ARH FE— 41 42 83| 10.8 72.2 64 7 |7 AET 52 54 106 | 30.0 76.0
14 fr | LW B 37 | 39 76 .6 72.4 65 fir | AR BEH 45 | 48 93| 16.8 76.2 | EAY
15 fif [/ itk 36 | 40 76 .6 2.4 | EAHAY 66 {7 | AZE HEK 43 | 44 87| 10.8 76.2
16 7 | EkE 1 37 38 75 4 72.6 | BG 67 i | B mUA 46 | 47 93| 16.8 76. 2
17 L |#& EA 41 39 80 .2 72.8 68 {7 |[#EA IE 48 | 44 92| 15.6 76. 4
18 fir Y8 Kl 47 45 92 19.2 72.8 69 fir | L& B 45 47 92| 15.6 76. 4
19 A | &Kk BF 41 44 85| 12.0 73.0 70 A [ R = 51 53 104| 27.6 76.4 | HAY
20 N\L | K42 #8 46 | 45 91| 18.0 3.0 HADY 710 | B 43 | 49 92| 15.6 76. 4
21 7 |#=6E Bl 53 | 44 97| 24.0 73.0 72 ff | thp s 55 | 48 103 | 26.4 76.6
22 0 |FHH R 43 36 79 6.0 73.0 73 0L | A H FR 52 50 102| 25.2 76.8
23 /i | BOK EAh 42 | 42 84| 10.8 73.2 74 7 |k R 51 51 102 25.2 76. 8
24 | BGE 46 38 84| 10.8 73.2 75 i | BP0 &R 53 55 108 31.2 76.8 | HAY
25 ff | & AT 43 | 46 89| 15.6 BA|EAED 76 | B HH 42 | 47 89| 12.0 77.0
26 i |= L &K— 53 48 101 | 27.6 73. 4 WAV 52 47 99| 21.6 77. 4
27 i | MR &l 44 | 39 83 9.6 73.4 78 | [ EHG 49 56 105| 27.6 77.4
28 i | ILFE Z& 42 46 88| 14.4 73.6 79 i [ AR R 47 46 93 15.6 77. 4
LR APNIT;- 42 45 87| 13.2 73.8 80 fir | #AH HEHE 43 | 43 86 .4 7.6 | EAY
30 i |4 % 49 | 44 93| 19.2 3.8 | EAY 81 fif [ Kl m/8— Rk 44 | 42 86 Al 116
317 |3t & 46 47 93| 19.2 73.8 82 fir | Ak FAet 48 43 91| 13.2 77.8
32 N7 | RS Mk 46 46 92 18.0 74.0 83 i | Bk 42 53 50 103 | 25.2 77.8
33 fi7 [KJII FniB 49 | 49 98| 24.0 74.0 84 {7 [ B IE 48 | 48 96| 18.0 78.0
34 | mF EA 44 41 85| 10.8 74. 2 85 fir | HH A 55 47 102 24.0 8.0 HAY
35 fif |[EH = 50 | 47 97| 22.8| 7142 |EAY 86 fif |1k 1= 49 | 47 96| 18.0| 78.0
36 Nif | kadk € 55 48 103 | 28.8 74.2 87 if | Bk BT 52 48 100 21.6 78.4
37 fr [ At 51 40 91| 16.8 74.2 88 x| FEH A 48 | 46 94| 15.6 78. 4
38 L [/INRTJEL AL 52 44 9% | 21.6 74. 4 89 if | FHH B 56 44 100 21.6 78.4
39 fif |fa= # 57 51 108| 33.6 74. 4 90 A7 | =5 J\HR 53 58 111 32.4 8.6 | HAY
40 fr | e & 42 | 42 84 9.6 4.4 BHD 91 ff | ¥ 54 | 51 105| 26.4 78.6
41 {7 | D %A 48 | 60 108 | 33.6 74. 4 92 {if R E iz 46 | 41 87 8.4 78.6
42 7 |[HEHE Fk 52 44 9 | 21.6 74. 4 93 fir | B 55 55 110| 31.2 78.8
43 {7 | #k Eif 48 | 48 9% | 21.6 74. 4 94 i | #EF —8H 47 | 51 98| 19.2 78.8
44 fL | AF — 53 47 100 | 25.2 74.8 95 N | BEAS i 47 50 97| 18.0 79.0 | ' HAY
45 fr | EH A 42 40 82 7.2 4.8 HAY 96 i | [ H == 65 56 121 42.0 79.0
46 fir | 1LUAR fih 47 46 93| 18.0 75.0 97 if | RRIFF BiR 48 49 97| 18.0 79.0
47 {7 | IRE N 43 | 44 87| 12.0 75.0 98 {if | @ HE 58 | 62 120 40.8 79.2
48 {7 | JF#F HEFD 49 | 44 93| 18.0 75.0 99 fif |MFH &k 51 56 107 | 27.6 79. 4
49 {7 (1A AR 47 | 46 93| 18.0 75.0 100 {7 | BEH 3RiG 51 50 101| 21.6 9.4 BBV
50 {7 | K 157 43 43 86| 10.8 5.2 | EAY 101 iz |#)ll B— 54 63 117 37.2 79.8




